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1 Iacnopt ®oH/1a OLIEHOYHBIX CPEACTB

B pesymbrare ocBoeHumst ydueOHoi muctmmuimael OI'CO.03 HMHOCTpaHHBIH S3BIK B
npoecCHOHATBHON JIEATEFHOCTH OO0yJalomMiicss JOJDKeH o01agaTh MpeayCMOTPEHHBIMU
@I'OC mo cnemmansHocTr CIIO 11.02.16 MoHTax, TeXHHYECKOE OOCITY)KHBAaHHUE U PEMOHT
AIIEKTPOHHBIX MPHUOOPOB M YCTPOUCTB CIEAYIOMIMMH OOMKMMH H TPO(EeCcCHOHATBHBIMU
KOMITETEHIIUSIMU:

OK u I1K, akryanu3upyemble Npy U3y4E€HUU JAUCHUILINHBL:

OK 01. BsiOupate cnocoObl pemieHuss 3aAad  NPOPECCHOHAIBHOM  JIeATENbHOCTH,
MPUMEHUTENBHO K Pa3JIMUYHbIM KOHTEKCTaM.

OK 02. OcymiecTBisTh NOMCK, aHAJIN3 U HMHTEPIpETAlN0 HHPOpMAIUH, HEOOXOIUMOU JyIs
BBINIOJIHEHUS 3a7a4 IPO(ECCHOHATILHOM eSITEIbHOCTH.

OK 03. IInanupoBaThb U pealn30BbIBaTh COOCTBEHHOE NPOPECCHOHATBHOE U JINYHOCTHOE
pa3BUTHE.

OK 04. PabGoTarth B KOJJIEKTUBE W KOoMaHze, 3((EKTHBHO B3aUMOJEICTBOBATh C KOJIJIEraMu,
PYKOBOJICTBOM, KJIMEHTaMH.

OK 05. OcymiecTBiATh YCTHYIO M MMCBMEHHYI0O KOMMYHHMKAIIMIO Ha TOCYIapCTBEHHOM SI3BIKE C
y4eTOM 0COOEHHOCTEH COIMATLHOTO U KYJIbTYPHOTO KOHTEKCTA.

OK 06. IlposBisATh rpakJIaHCKO-NATPUOTUYECKYIO IMO3UIHIO, JEMOHCTPHUPOBATH OCO3HAHHOE
MOBE/ICHHE HA OCHOBE TPAJAUIIMOHHBIX 00II€YeIOBEYECKUX [IEHHOCTEH.

OK 07. ConeiicTBOBaTh COXpaHEHUIO OKPYKAIOIIEH Cpenbl, pecypcocOepekennio, 3 HEeKTHBHO
JIEMCTBOBATh B YPE3BbIYANHBIX CUTYAIUAX.

OK 08. Hcnonb3oBaTh cpeiacTBa (U3MUECKOW KYJAbTYPHI IJIi COXPAHEHHS M YKPEIUICHUS
3I0pOBbsl B Tpoliecce Mpo(ecCHOHATbHON NEATeNIbHOCTH U MOJAEpKaHUs HE0OXO0IUMOTro
YpOBHS (pU3HMUECKON OATOTOBICHHOCTH.

OK 09. Mcnonb3oBaTh HHGOPMAITHOHHBIC TEXHOJOTHUH B MPOPECCHOHATHHON JIEATEILHOCTH.

OK 10. TIlomp3oBaTbcs MPOQECCHOHATBHONW JIOKYMEHTAllMe Ha TOCYJapCTBEHHOM U
MHOCTPaHHOM SI3bIKAX.

OK 11. IlmannpoBaTh MpeANPUHUMATEIBCKYIO IEITSIIBHOCTD B TPO(eccHoHambHOM cdepe.

IIK 1.1. OcymiecTBasTh COOPKY, MOHTQX U JEMOHTaX JIEKTPOHHBIX NMPUOOPOB U YCTPOICTB B
COOTBETCTBUU C TPEOOBAHUSIMU TEXHUYECKON JOKYMEHTAIUH.
[1IK 1.2. BBIMOAHATh HACTPOIMKY U PETYIHPOBKY JIEKTPOHHBIX TPUOOPOB U YCTPOUCTB CperHEl
CJIOHOCTH C Y4€TOM TpeOOBaHUN TEXHUYECKUX YCIOBUH.
[IK 2.3. BbINONHATH TEXHUYECKOE OOCIY)KMBAHHME DJIEKTPOHHBIX MPUOOPOB M YCTPOWCTB B
COOTBETCTBUU C PETIAMEHTOM M MPABUJIAMHU SKCILTyaTallH.
I[IK 3.2. Pa3zpaGaTpiBaTh MPOEKTHO-KOHCTPYKTOPCKYIO JOKYMEHTAIIMIO TEYaTHBIX Y3JI0B
AIIEKTPOHHBIX MPUOOPOB U YCTPOMCTB U MUKPOCOOPOK CPETHEHN CIOKHOCTH.

®dopmoii aTTecTaluy Mo yueOHOW TUCIHILINHE SBISETCS Oughhepenyuposannviii 3auem.



2 KoHTpPOJIb ¥ OLIeHKA OCBOEHUsI Y4eOHOI THCHUILINHBI 10 TeMaM (pa3aeam)

Tabmuma 1
DopMbI 1 METOABI KOHTPOJISI
JJleMeHT y4eOHoil
AMCHHILIHHBI Texymmii KOHTPOJIb Py6e:kHbIil KOHTPOJIb IIpomeskyTOUHas aTTEeCTALUSA
DopmMa KOHTPOJIS IIpoBepsiembie | MopMa KOHTPOJIS IIpoBepsiemble ®opma IIpoBepsieMmble
OK, IIK OK, IIK KOHTPOJIs OK, IIK
Paznen 1 KonTtponbHslil
BBoaublii Kypc cpe3 3HaHu#
Tema 1 JlekcukoO-rpaMMaTHYCCKHE 0OKO01,03,05,09
TeopeTuyecKre OCHOBBI IEpeBo/Ia
N YIPaXHEHUS IK1.1, 1.2,1.3
TEXHUYECKOH JIOKYMEHTAIIUH
Pa3nen 2 } OK 01, 03, 05, 09 )ln(b(bepenuu OK 01, 03, 05, 09
Hay4Ho-TexHn4yeckuii mporpecc Konrponbnas MK 11 1.2 13 upoBansbiii | [IK 1.1, 1.2,1.3
Tewma 2.1 pabota Ne 1 e 3a4eT
I/Ie a s i JlekcuKO-rpaMMaTHUECKHE 0KO01,02,03,04
CTOpI/IHVHay'-IHO TEXHUYCCKHUX YIpaKHeHUs [K1.1 , 12’1 3
OTKPBITUI
Tema 2.2 0OKO01,02,03,04,
N Jlekcuko-rpaMMaTHYECKUE
MaremaTuyeckue AeiHCTBHS, 05,09
oneparyn YHPWKHCHIA MK1.1,1.2,1.3
— Huddepenr
Pa3gen 3 KoHTDoNLHas OK 01, 03, 05, 09 DOBAHHLLA OK 01, 03, 05, 09
IIpodeccnonaJbHbIi MOTYIb a60Tpa No 2 K 1.1, 1.2,1.3 3:qu IIK 1.1, 1.2,1.3
Tema 3.1 OK01,02,0304, | P *
Jlexcuko-rpamMmmaTHUECKue
DJIeKTPOHUKA U UCTOUHUKH 05,09
MUTAHUAS YHPpaAKHCHI IIK1.1,1.2,1.3
0OKO01,02,03,04,
Tema 3.2 . Jlekcuko-rpaMMaTHUecKue 05.09 KonrponbsHas OK 01,02,03,04,05,09
DJeMEHTHI H Y3JIbI SJIEKTPOHHOU AKHOHISI , aGora No 3 K11 12 23
anmnapaTypsl yip IIK1.1, 1.2, 2.3 p - e
Tema 3.3 0OK01,02,03,04,
o Jlexcuko-rpamMmmMaTHUECKUE
MoHTaX U PEeMOHT 3IeKTPOHHOI 05,09
TeXHHUKH YIP&KHCHAS [IK1.1, 1.2, 2.3
KonrponbsHas OK 01,02,03,04,05,09 | duddepenrr | OK 01, 02, 03, 04,
Tema 3.4 OKO01,02,03,04, | pabora Ne 4 K 1.1,1.2,1.3 uposannsi | 05,09,10
Hacrpoiika, perymupoBka u JlekcukoO-TpaMMaTHIECKIE 05 09’ e — K11 12 23.3.2
TECTHPOBAHME DIEKTPOHHBIX YIPaKHEHHUS MK1112.13 e
OpHOOPOB U YCTPOKCTB T
Tema 3.5 0K01,02,03,04, OK 01, 02, 03, 04,
MHuUpOBBIE TOCTHKEHHS HAYKU U Jlekcuko-rpaMMaTHYECKUe 05,09.10 KonrponbHast pabora 05. 09 10
TEXHUKHU Y TEHICHIMU B 00J1aCTU YIIPpaXKHEHHS 1K 1.1,1.2,2.3, | Ne 5 HIZ | i 12.23.3.2
ANEKTPOHUKH 3.2 o




Tema 3.6

Jlekcuko-rpaMMaTH4YeCKHe

0KO01,02,03,04,

05,09,10
IlepcnexTuBBI pa3BUTUA YOPaOXXHCHHA 1K 1.1, 1.2, 2.3,
AIIEKTPOHHUKH 32
Tema 3.7 Jlexcuko-rpammaruueckue | OK01,02,03,04,
Ipodeccun, cpazaHHbIE C YIIpasKHEHHS 05,09,10
SKCIUTyaTaluei JeKTPOHHOTO I1IK 1.1, 1.2,2.3,
obopyoBaHus 3.2

Konrponbnas pabora
Ne 6

OK 01, 02, 03, 04,
05,09,10
IIK 1.1,1.2,2.3,3.2




3 3aI[aH]/I$l AJIsi OHCHKHU OCBOCHUSA yqeﬁnoﬁ AUCIUIIJIMHBI

Pa3znesn 1 OcHoOBHOe coaepxxaHue
KoHTpoJIbHBIH cpe3 3HaAHU
1 BapuaHT

3aganue 1. [TocTraBpTe CASAYIOMME CYIISCTBUTCIBHBIC B MHOKESCTBEHHOE YUCIIO:

Lady, tragedy, cat, book, information, glasses, peach, boy, country, mouse, ox, sheep, dog,

secretary, crowd, pencil, leaf, tomato, tooth, man, eye, sugar, money, lemon.

3amanue 2. Packpotite ckoOku, yroTpeOisisa riraroisl B Present, Past mym Future Simple:

. I (to go) to bed at ten o'clock every day.
. I (to go) to bed at ten o'clock yesterday.
. I (to go) to bed at ten o'clock tomorrow.
. She (to do) all the washing in their house.

. Two years ago they (to be) rich and money (to be) never a problem.
. 'You (to think) you (to be) happy in your new neighborhood?

1
2
3
4
5. He even (not to know) how to use the washing machine.
6
7
8

. When the cabbage soup (to be) ready?

3axanue 3. [TocTaBpTe KaXK/10€ CJIOBO HAIIPOTHB TOM YACTHU PEUYH, KOTOPOU OHO COOTBETCTBVYET:

Noun

Verb
Adjective
Adverb
Numeral
Pronoun
Conjunction
Preposition
Particle
Interjection

nice

and

in
apparently
sixty-two
not

who
textbook
sleep

Oh

OTtBet K Ne 3:
cymiectBuTensHOe | textbook
TJ1aroJ sleep
npusaraTeabHoe | Nice
Hapeyne apparently
YHCITUTEIHHOE Sixty-two
MECTOMMEHHE who
COI03 and
peIoT in
JacTUIa not
MEXIOMETHE Oh

3aganme 4. [locTaBbTe NPEII0KEHNS B BOIIPOCUTENLHYIO M OTPHIIATEIBHYIO d)ODMBI.

1. He studies at the college.
2. He will visit us some day.

3. We usually watched TV in the evening.

3amanue 5. BeiOepure npaBuiIbHBII BApUAHT OTBETA ¢ KOHCTpYKIMEH there is / there are

1. There ... many children in the park.

A. are
B. is

2. There ... many ways of solving such a problem.

A. is




B. are

There ... a man outside the building.
weren’t

© >

wasn’t

How many children ... there in your class?
IS
are

© > &

5. There ... much sugar left.
A. isn’t
B. aren’t

OtBetnl K Ne5:1-A 2-B 3-B 4-B 5-A

3aganue 6. BeiOepure mpaBUIBLHBIA BADHAHT OTBETA, CONEDKAINN IIPUTHKATEIBHBIN TAJIEXK

CYIIECTBUTCIILHOTI'O.
1. I'mgoing to spend the night at my aunt house.
A. my aunt' house
B. my aunts' house
C. my aunt's house
D. my aunts house

2. These are children books.
children's books
children' books
childrens books
childrens' books

OO0Ow>

3. What's the name this street?
A. the names' street
B. the names street
C. the name's street
D. the name of this street

4. Your father has gone to the butcher.
A. the butcher
B. the butcher's
C. the butchers
D. the butcher'

5. This is the roof house.
A. the roof house
B. the roof of the house



C. the roof's house
D. the roof house

Otsetnl Kk Ne6: 1-C 2-A 3-D 4-B 5-B

2 BapuaHT
3ananme 1. [TocTaBbTe ClIeNyIONUE CYIIECTBUTEIbHBIE B MHOKECTBEHHOE YUCIIO:

Day, bed, star, snow, bench, box, girl, fly, knife, wife, foot, child, deer, knowledge, hair, glass,
library, dress, watch, tree, mountain, bush, goose, picture.

3amanue 2. Packpolite ckoOku, ymoTpebisisa rimarosl B Present, Past mym Future Simple:

1. You (to watch) TV every day?

2. You (to watch) TV yesterday?

3. You (to watch) TV tomorrow?

4. When you (to leave) home for school every day?

5. When you (to leave) home for school yesterday?

6 When you (to leave) home for school tomorrow?

7 My brother (to go) to work every day. He (to leave) home at a quarter past eight. The
office where he (to work) is near our house, he (to walk) there. He (not to take) a bus. Yesterday
he (not to go) to work. Yesterday he (to get) up at nine o'clock.

8. You (to have) a PT lesson yesterday? — No, I....

3aganue 3. IlocTaBbTe KAXKJIO€ CIOBO HAIIPOTHUB TOM YaCTH pE€UH, KOTOPOU OHO COOTBETCTBYET:

Noun nice OtBeThbI K Ne 3:
Verb and CYIIECTBUTEIILHOE textbook
Adjective in [J1aros sleep
Adverb apparently npUIaraTeibHOe nice
Numeral sixty-two Hapeune apparently
Pronoun not YHACIUTEITHHOE sixty-two
Conjunction | who MECTOUMEHHE who
Preposition | textbook COI03 and
Particle sleep peior in
Interjection | Oh yacTuia not
MEXIOMETHE Oh

3ananue 4. [locTaBpTe NPEII0KECHUS B BONPOCUTEIBHYIO U OTPUIATEIHHYIO d)ODMBII

1. Our teacher asks many questions.
2. Nick worked at school last year.
3. We shall go to Moscow in summer.



3anaunue 5. Beibepure mpaBMIIbHBIN BADUAHT OTBETA ¢ KOHCTpYKIMei there is / there are:

1. There ... many restaurants in my town.

A. s

B. Are

| am sorry to tell you but there ... no good news for you today.

are
is

w > ™

There ... nothing he could do to prevent the crime.
IS

will be

are

was

COWP®

You should go. There will ... something new to learn at the meeting.
is

are

to be

be

oo wp s

There ... soup in the fridge.
IS many

are much

is much

are many

COowp e

OtBer k Ne 5: 1-B 2-B 3-D 4-D 5-C

3amanue 6. BoiOepuTe IIpaBUiIbHBIN BADUAHT OTBETA, COAEPKAINNA IIPUTHKATEILHBIN TaAeK

CYHICCTBUTCIILHOTI'O:

1. Do you like Eliot poetry?
A. Eliot' poetry
B. Eliots poetry
C. Eliot's poetry
D. Eliots' poetry

2. It's about three hours work.
hours work
hours's work
hour's work
hours' work

10



3. That's the leg table.
the leg of table
the legs' table
the leg of the table
the leg's table

4. What are his brothers names?
brothers of the names
brothers' names
brother' s names
brothers's names

5. My daughter birthday is in May.
my daughter's birthday
my daughter' birthday
my daughters birthday
my daughters' birthday

Oteetnl K Ne 6: 1-C 2-D 3-C 4-B 5-A

3 BapuaHT
3aganue 1. IlocTaBbTe CIENVIONIME CYIIECTBUTEIbHBIE B MHOKECTBEHHOE YHCIIO:

Secretary, crowd, pencil, leaf, tomato, tooth, man, eye, sugar, money, lemon, day, bed, star,
snow, bench, box, girl, fly, knife, foot, child, deer, knowledge, hair, glass.

3aganue 2. Packpolite ckoOKH, yrioTpebiisist raarossl B Present, Past miu Future Simple:

. 'You (to watch) TV yesterday?

. You (to watch) TV tomorrow?

. When you (to leave) home for school every day?

. She (to do) all the washing in their house.

. He even (not to know) how to use the washing machine.

. Two years ago they (to be) rich and money (to be) never a problem.
. 'You (to think) you (to be) happy in your new neighborhood?

. When the cabbage soup (to be) ready?

0O ~NOo Ok wWwN B

3apanue 3. [locTaBpTe KaXJ10€ CJIOBO HAIPOTHUB TOM YAaCTH PEYU, KOTOPOH OHO COOTBETCTBYET:

Conjunction | nice OtBer Kk Ne 3:

Verb and COI03 and
Particle in IJ1aroJ sleep
Adjective apparently JacTUIA not
Adverb sixty-two npuiaratenpHoe | Nice
Preposition | not Hapeuue apparently

11



Interjection | who peIoT in

Noun textbook MEKIOMETHUE Oh

Numeral sleep cylecTBuTenpHOE | textbook

Pronoun Oh YUCIIUTETHHOC Sixty-two
MECTOMMECHHE who

3amanue 4. [TocTaBbTe OPEUI0KEHUS B BOONPOCUTENBH VIO U OTPULIATEIBHYIO (DOPMBL:

1. My sister finished her work.
2. They study English.
3. They will go to Moscow.

3anaunue 5. BeiOepure mpaBMiIbHBIM BADUAHT OTBETA ¢ KOHCTpYKIMei there is / there are:

DOWPH DOWP® TOD®HBN

COowp e

... there ... here?

1.
A. Is/ somebody
B.
C
D

Is / anybody

. Are / somebody
. Are / anybody

There ... a lot of people at yesterday’s meeting.
are

is

was

were

There ... much food left in the fridge. We should buy some.
isn’t

aren’t

are

is

Jim, come here! There ... | need to talk to you.
is anything

are something

is something

are anything

You didn’t understand me right. I am sure there ... some misunderstanding.
be

must have been

will be

are

OtBer k Ne 5: 1-B 2-D 3-A 4-C 5-B
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3amanue 6. BoiOepuTe 1IpaBUiIbHbBINA BADUAHT OTBETA, COACDKALLMN IIPUTIKATEIbHBIN MAASK

CYHCCTBUTCIIBHOT'O!

1. I'm going to spend the night at my aunt house.
A. my aunt' house
B. my aunts' house
C. my aunt's house
D. my aunts house

2. What's the name this street?
A. the names' street
B. the names street
C. the name's street
D. the name of this street

3. This is the roof house.
A. the roof house
B. the roof of the house
C. the roof's house
D. the roof' house

4. It's about three hours work.
A. hours work
B. hours's work
C. hour's work
D. hours' work

5. What are his brothers names?
A. brothers of the names
B. brothers' names
C. brother's names
D. brothers's names

OtBer Kk Ne 6: 1-C 2-D 3-B 4-D 5-B

Tema 1 Teopernyeckue 0CHOBBI NepPeBOIa TEXHUYECKOH TOKYMeHTAINI

HCKCI/IKO'FpaMMaTI/I‘{eCKI/Ie YIIPAKHCHUA

CwmexaeB B. I1. CoBpeMeHHbII TexHUYeCKU niepeBol. YdueOHoe nocoOue. AHIIMMCKUNA S3bIK. —

M.: Banent, 2014. — 360 c.
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Paznen 2
HayuyHo-TexHH4YeCKHUil mporpecc
Tema 2.1 UcTropust HAy4YHO-TeXHHYECKUX OTKPBITHH
Jlexcuko-rpaMMaTHYeCKHE YIIPAKHEHUS
1. Read and translate the text
WHO INVENTED THERMOMETER?

The thermometer was invented by Galileo Galilei in 1593. His thermometer consisted of
water in a glass bulb. The water moved up and down the bulb as the temperature changed. The
sealed thermometer was invented in 1641 by the Grand Duke Ferdinand Il. He used a glass tube
containing alcohol, which freezes well below the freezing point of water (alcohol freezes at —
175° F=-115°C). He sealed the tube to exclude the influence of air pressure. Mercury was later
substituted for the alcohol, and then Daniel Gabriel Fahrenheit (1686-1736), a German physicist,
used mercury plus a chemical solution that kept the mercury from sticking to the tube of the
thermometer (in 1714). Fahrenheit also expanded the thermometer’s scale (in 1724). On
Fahrenheit scale, the temperature of boiling water is 212°F and the freezing point of water is
32°F. Anders Celsius, a Swedish astronomer, invented the Celsius (or Centigrade) scale in 1742,
putting the freezing point of water at 0°C and the boiling point at 100°C.

2. Answer the questions
1) What was invented by Galileo Galilei in 15937
2) What did his thermometer consist of?
3) How did the water move in the bulb with the changing of the temperature?
4) Who invented the sealed thermometer?
5) What was the principle of operation of a sealed thermometer?
6) What changes did Mercury and Daniel Gabriel Fahrenheit do in the thermometer?
7) What was the principle of operation of the Celsius scale, invented by Anders Celsius, a
Swedish astronomer?

Tema 2.2 MaremaTn4yeckue AeiCTBUSA, ONlePAIIUN
JIekCHKO-rpaMMaTHYECKHE YITPaKHEHUS

1. Match the sums with the numbers.(Coedunume npumepor ¢ omsemamu)

1)45: 5 2) 96

3) 29-12 4) 73+12
a) eighty-five b) fifty-four

C) nine d) seventeen

2. Read a story and count. (TIpouumatime pacckas u nocuumatime)

In the street | live there are two hotels. In each hotel there are five floors. On each floor there are
ten rooms. In each room there is a bathroom. In each bathroom there are two bars of soap. Then
one day a thief steals half the soap bars. How many bars of soap are left in the room?

14



KonTtpoabHnas padora Ne 2
JAudpepeHiupoBaHHbIN 324eT
Bapuanrt 1
3aoanue 1. Ilepesedume uacmo mekcma nUCbMEHHO.

A computer is a machine with an intricate network of electronic circuits that operate
switches or magnetize tiny metal cores. The switches, like the cores, are capable of being in one
of two possible states, that is on or off; magnetized or demagnetized. The machine is capable of
storing and manipulating numbers, letters, and characters (symbols).

The basic idea of a computer is that we can make the machine do what we want by
inputting signals that turn certain switches on and turn other off, or magnetize or don’t magnetize
the cores.

3aoanue 2. Cocmasbme napvi uiu epynnvl O4U3KUX NO 3HAYEHUIO CIO08 U3 NePEeYHSI.

To turn on, to provide, to type, to accept, to help, to learn, to observe, to call, to tell, to
keep, to feed, to solve, to relate, to switch off, to communicate, to receive, to supply, to switch
on, to assist, to print, to study, to input, to turn off, to decide, to store, to say, to name, to watch.

3aoanue 3. Hazoeume mpu popmol cedyrowux HenpasuibHuiX e1aeoio08:
To be, to have, to mean, to learn, to become, to bring, to know, to think, to buy, to take.

3aoanue 4. Haioume sxgusanenmeoi.

1. Intricate Cnoxenue

A
2. Electronic circuit B. CnosHbIi, 3aIyTaHHBIH
3. To operate switches C. OOGpabarbIBaTh JaHHBIC
4. To store numbers D. IlpuBoauTh B ACHCTBHE IEPEKIIOYATEIIH
5. To manipulate E. Bxmouars
6. To switchon F. Cuabxath, 00ecreunBarh
7. Toturn off G. YmupaBisath
8. To process data H. 3anmomunath uncna
9. To supply |. Beikmovars
10. addition J. DrexrponHas cxema

Bapuanrt 2
3aoanue 1. Ilepesedume yacms mexcma NUCbMEHHO.

The basic job of computers is processing of information. For this reason computers can
be defined as devices which accept information in the form of instructions, called a program, and
characters, called data, perform mathematical and/ or logical operations on the information, and
then supply the results of these operations. The program, or part of it, which tells the computer
what to do and the data, which provide the information needed to solve the problem, are kept
inside the computer in a place called memory.

It is considered that computers have many remarkable powers. However most computers,
whether large or small, have three basic capabilities.
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3aoanue 2. Cocmasbme napbol uiu cpynnol O1U3KUX NO 3HAYEHUIO C1O08 U3 NePeyHsL.

Work, machine, fundamentals, display, application, capabilities, job, storage, screen, state,
basics, use, concept, specialist, journal, character, memory, idea, expert, magazine, position,
symbol, command, data, solution, device, instruction, powers, information, decision.

3aoanue 3. Hazoeume mpu popmol cnedyrowux HenpasuIbHuIX e1acol08:
To do, to begin, to give, to make, to keep, to get, to read, to show, to be, to have.

3aoanue 4. Haiioume sxeusanenmeoi.

1. addition A. yMHOXCHHE

2. subtraction B. Hemennenno

3. division C. ycTpoiicTBO BBOJIA

4. multiplication D. cnoxenue

5. exponentiation E. 3amommHaroiee ycTpoicTBO Ha MAarHUTHOM JICHTE
6. user F. momnp3oBarens

7. input device G. BbIUMTaHHE

8. disc drive H. muckoBoxn

9. tape drive |. BO3BemeHHE B CTEMEHD

10. instantaneously J.  nmenenme

Paznen 3
IIpodeccnonanbHbIH MOTYJIb
Tema 3.1 DIeKTPOHUKA M UCTOYHUKH NMUTAHUS
JIlekcuko-rpaMMaTHyYeCcKe ypaKHEHUs
1. Translate the five major functional units of a digital computer:
1) Input— to insert outside information into the machine; 2) Storage or memory — to store
information and make it available at the appropriate time; 3) Arithmetic-logical unit — to
perform the calculations; 4) Output — to remove data from the machine to the outside world and
5) Control unit — to cause all parts of a computer to act as a team.

»{  Arithmetic |
* T
—Uput l : Output
* v |
| Mcmory | |
i \ |
b A e e !
1 Information
Control L
—-=— == Control

2. Bcnomnume 3nauenue HoO6bIX €106 U HONbIMAUMeECH nepeeecmu cioeocovemanus,
ynompeﬁfmeMble cimumu ciosamu.

Computer, analog computer; digital computer; hybrid computer; all-purpose computer;
general-purpose computer; fifth-generation computer; game computer; handheld computer;
mobile computer; multimedia computer; notebook computer; pocket computer; portable
computer.
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Unit: unit of memory; unit of data; unit of measurement; arithmetic unit; arithmetic-
logical unit; central processing unit; computing unit; control unit; functional unit; input unit;
output unit; network unit; system unit.

Function: arithmetic function; checking function; complex function; computer function;
continuous function; conversion function; distribution function; encoding function; logical
function; numeric function; output function; program function; search function; software
function; support function; utility function; variable function.

Control: access control; batch control; coding control; distance / remote control; error
control; execution control; hardware control; input/output control; memory control; power
control; production control; program control; rate control; self-acting control; software control;
system control.

Tema 3.2 J1eMeHTBI M y3J1bI 3JIEKTPOHHOH aNNnapaTypbl
JIeKCHKO-TpaMMAaTHYECKHEe YIPaKHEHUS
1. Haitoume anznuiickue 7Keu6anIeHmMul Cl1eOYIOUUX CTIO0COUEMAHUIL:

OyHKIMOHANBHAS OpPraHW3alusl; NEWCTBUS KOMITBIOTEPA; CBS3BIBATH IPYT C JIPYTOM;
BBOAWTh HMH(OPMAIMIO W3BHE; AeiaTb WHPOPMAIUIO JOCTYITHOW; BBITIOJNHSTH BBIYMCICHHS,
BBIBOJUTh WH(POpPMANMIO; OJOK YNpaBICHHS; BBIJABAaTh KOMAH[BI, 3aCTaBISITh BHIOJHATH
KOMaHJIbI, BBIXOJIHO€ YCTPOMCTBO; BHEITHUI MUp; CBSI3BIBATHCSA APYr C IPYroM; KOMOWHAITHS
ANIEKTPUUYECKUX UMITYIIHCOB; XOJIOCTOW UMITYIIBC; UMITYJIBCHI, pACIIO3HABAEMBIE KOMITBIOTEPOM.

2. Bcnomnume 3unauenue cnedyrowjux npuiacamenvHviX U npeodpazyiime ux 6
CPABHUMENbHYIO U NPEBOCXO0OHYI0 CHIENEHU.

A. Small; fast; new; long; late; wide; young; easy; great; dull; rich; bulky; large; vast; early;
old; broad.
B. Frequent; reliable; approximate; significant; intricate; possible; basic; remarkable;

common; modern; dependent; general; necessary; successful; scientific; universal.
C. Good; bad; little; many.

KonTpoasHnas padora Ne 3
BapuanT 1
1. Ilpoumume u nucomeHHO nepegeoume nepevie Mpu ad3aua mexKcma.
SOME FEATURES OF A DIGITAL COMPUTER

It should be noticed that even in a large-scale digital system, such as in a computer, or in
a data-processing, control or digital-communication system, there are only a few basic operations
which must be performed. These operations may be operated many times. The four circuits most
commonly employed in such systems are known as the OR, AND, NOT and FLIP-FLOP. They
are called logic gates or circuits.

An electronic digital computer is a system which processes and stores very large amount
of data and which solves scientific problems of numerical computations of such complexity and
with such speed that solution by human calculation is not feasible. So the computer as a system
can perform numerical computations and follow instructions with extreme speed but it cannot
program itself.

We know that the numbers and the instructions which form the program, the computer is
to follow, are stored in an essential part of the computer called the memory. The second
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important unit of the computer is the control whose function is to interpret orders. The control
must convert the command into an appropriate set of voltages to operate switches and carry out
the instructions conveyed by the order. The third basic element of a computer is the arithmetic
device, which contains the circuits performing the arithmetic computations: addition, subtraction,
etc. The control and arithmetic components are called the central processor. Finally a computer
requires appropriate input-output devices for inserting numbers and orders into the memory and
for reading the final result.

Suppose a command to perform an addition or division has been transmitted to the central
processor. In response to this order the control must select the correct operands from the
memory, transmit them to the arithmetic unit and return to the memory the result of the
computation. The memory serves for storing not only the original input data, but also the partial
results which will have to be used again as the computation proceeds.

Lastly, if the computation doesn't stop with the execution of this instruction and the
storage of the partial result, the control unit must automatically pass on to the next instruction.
The connection of the control unit back to the input permits insertion of more data when there is
room in the memory.

2. IlIpocmompume mexcm ewe pas. Omeemovme HA BONPOCHL, UCHONL3YA UHPOPpMAUUIO
mekKkcma.

1. What are the most commonly used circuits in any computer? 2. How are they called? 3. What
kind of a system is a digital computer? 4. Is there anything that a computer cannot do itself?
What is it? 5. Where are the instructions and digits stored? 6. What is the function of the control?
7. What does the arithmetic device serve for? 8. What components form the central processor? 9.
What other devices in addition to the above-mentioned ones does a computer require? 10. How
are computations performed in a computer?

3. Haiioume ¢ mekcme anenuiickue IK6U8A1eHMbL C1EOYIOULUX COUCMANHUIL:
Kpynnomacmrabnast nudpoBas cucreMa; cucTteMa oOpabOTKH NaHHBIX; cCHUCTeMa ITU(POBOI
CBsI3M; HamOoJiee NIMPOKO PACIPOCTPAHECHHBIE CXEMbI; JIOTUYECKUE CXEMBI, pElIaTh Hay4dHbIE
MPOOJIEMBI; BBITIOJIHATH YUCIIOBBIC BRIYUCIICHHS, MHTEPIPETHPOBATH KOMAH/IBI.

Bapuanrt 2
1. Ilpoumume u nucomeHno nepesedume nocieoHue mpu adzaya mexkcma.
SOME FEATURES OF A DIGITAL COMPUTER

It should be noticed that even in a large-scale digital system, such as in a computer, or in
a data-processing, control or digital-communication system, there are only a few basic operations
which must be performed. These operations may be operated many times. The four circuits most
commonly employed in such systems are known as the OR, AND, NOT and FLIP-FLOP. They
are called logic gates or circuits.

An electronic digital computer is a system which processes and stores very large amount
of data and which solves scientific problems of numerical computations of such complexity and
with such speed that solution by human calculation is not feasible. So the computer as a system
can perform numerical computations and follow instructions with extreme speed but it cannot
program itself.
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We know that the numbers and the instructions which form the program, the computer is
to follow, are stored in an essential part of the computer called the memory. The second
important unit of the computer is the control whose function is to interpret orders. The control
must convert the command into an appropriate set of voltages to operate switches and carry out
the instructions conveyed by the order. The third basic element of a computer is the arithmetic
device, which contains the circuits performing the arithmetic computations: addition, subtraction,
etc. The control and arithmetic components are called the central processor. Finally a computer
requires appropriate input-output devices for inserting numbers and orders into the memory and
for reading the final result.

Suppose a command to perform an addition or division has been transmitted to the central
processor. In response to this order the control must select the correct operands from the
memory, transmit them to the arithmetic unit and return to the memory the result of the
computation. The memory serves for storing not only the original input data, but also the partial
results which will have to be used again as the computation proceeds.

Lastly, if the computation doesn't stop with the execution of this instruction and the
storage of the partial result, the control unit must automatically pass on to the next instruction.
The connection of the control unit back to the input permits insertion of more data when there is
room in the memory.

2. Ilpocmompume mexkcm euwie paz. Omeemovme Ha 60NPOCHl, UCHOAL3YA UHPOpMmayuro
meKkcma.

1. What are the most commonly used circuits in any computer? 2. How are they called? 3. What
kind of a system is a digital computer? 4. Is there anything that a computer cannot do itself?
What is it? 5. Where are the instructions and digits stored? 6. What is the function of the control?
7. What does the arithmetic device serve for? 8. What components form the central processor? 9.
What other devices in addition to the above-mentioned ones does a computer require? 10. How
are computations performed in a computer?

3. Haitoume 6 mexcme anznuiickue 3K6UGAIEHMbl C1EOYIOUUX COYEMAHUIL:

[IpuBouTE B AeHCTBUE MEPEKIIOYATENH; BBIIOIHATh KOMaHAbl; HYXKJIaThCs (TpeOOBATh)
B HEOOXOAMMOM yCTPOMCTBE BBOJIa-BbIBO/IA; BBEICHUE YUCENl U KOMaH/[; CYUThIBAHNE KOHEUHBIX
pe3ynbTaToOB; MepeJaBaTh KOMaHIy B IICHTPAJbHBIA MpOILIECCOP; B OTBET HA;, XpaHEHUE
YaCTUYHBIX PE3YyJIbTaTOB; MO3BOJIUTH BBEJICHUE HOBBIX JAHHBIX; CBOOOTHOE MECTO B MaMSTH.

Tema 3.3 MOHTAK ¥ PEMOHT JIEKTPOHHOI TEXHUKH
Jlekcuko-TpaMMaTHYECKUE YIPAXKHEHUS
1. Haiioume anznuiickue 3K6uganeHmaul c1e0yIOuUX c1060COUCMAHUIL:

OyHKIMOHATIBHBINA OJIOK; TU(GPOBON KOMIBIOTEDP; YCTPONUCTBO BBOJIA; YCTPOMCTBO YIIPaBJICHHUS,
apu(PMeTUKO-TIOTHYEeCKOe YCTPOMCTBO; IEHTPANBHBIM MPOIECCOP; CTPYKTypa KOMITBIOTEPHOM
CUCTEMBI; MEPBUYHOE 3alIOMHMHAIONIEE YCTPOWCTBO; BTOPUYHOE 3Y; pacCMOTpPEHHUE; MO3TOMY
MOCJIE0BATENBHOCTD; ONepaTUBHOE 3Y; BHYTPEHHSS MaMsATh; NPOMEXKYTOUHBIE PE3YJbTaTh;
nojooune (hYHKIIMM YEIOBEUECKOTO MO3Ta; pa3MellaTh COACPKHMOE MO TPEeOOBAHUIO, CUCTEMaA
CUMCTICHHS; JBOMYHAS CHCTEMa CUHCJICHHs; BO3MOXXHBIE BEIMYHMHBI; 00beM HH(OpMAIUY;
JBOWYHBIM  KOJI;  CMEXHBIE  AYEHKH  MaMsITH;  TOCIEJ0BAaTEIbHOCTh  CHMBOJIOB;
OBICTPOJICHCTBYIOIIEE YCTPONCTBO; MOIYIPOBOAHUK; TOCTYITHBIM.
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2. Bcnomnume 3nauenue noewix 106 u nonsimaimecsy nepeeecmu cioeocovemanui,
ynompeﬁJmeMbte Ccimumu cjioseamu.
Storage: available storage; buffer storage; computer storage; data storage; magnetic disk
storage; magnetic tape storage; input storage; intermediate storage; internal storage; laser
storage; main storage; primary storage; secondary storage; sequential-access storage; variable
storage; virtual storage.
Value: absolute value; acceptable value; additional value; binary value; byte value; character
value; constant value; correct value; data value; digit value; discrete values; invalid value;
negative value; numerical value; output value; valid value.
Digit: binary digit; binary-coded digit; check digit; informaion digit; input digit; nonsignificant
digit; significant digit; digit-by-digit.
Sequence: out of sequence; alphabetic sequence; arithmetic sequence; binary sequence; character
sequence; code sequence; instruction sequence; data sequence; digital sequence; historical
sequence; increasing sequence; program sequence; string sequence.

Tema 3.4 Hactpoiika, peryJiJMpoBKa M TeCTHPOBaHHE 3JIEKTPOHHBIX IPUOOPOB U YCTPOMCTB
Jlexcuko-rpaMMaTHyYeCcKHe YIpa)KHEHUS

Ilepeseoume npeonoscenusn, cooepracawmue Perfect Participle Active u Perfect
Participle Passive.
1. Having finished the research the scientists made the analysis of the data obtained. 2. The
designer left the office having looked through all the documents. 3. Having discussed the
func-tions of storage units we passed on to the consideration of control processing unit. 4.
Having limited the information capacity of a single bit to two alternatives the computer designers
expressed data by a combination of bits. 5. Having translated the program into machine language
the computer architect put the program into the machine. 6. Having been coded the instruction
was transmitted to the central processing unit. 7. Having been transmitted to the central
processing unit the instruction made arithmetic-logical unit perform some computations. 8.
Having been regulated by the operator the equipment operated well. 9. Data having been entered
correctly into the computer component of a data processing system, the need for further
manipulation by humans is eliminated. 10. Having been well prepared for the examination the
pupils could answer all the questions the teacher asked them.

Kontpoabsnas padora Ne 4
1. Iloodepume emecmo nponycKkog nooxooauiue no cCMuiCly C10éd.
1. The method of ... all functional categories to one another represents the functional
organization of a computer,
a) showing; b) relating; ¢) performing
2. Instructions and data are fed through the equipment to the
a) output; b) memory; c¢) input; d) control
3. The main units of the computer communicate with each other ... a machine language.
a) in spite of; b) because of; ¢) by means of
4. The input also ... the information into the pulse — no-pulse combinations
understandable to the computer.
a) converts; b) removes; ¢) accomplishes
5. The four ... are used to perform basic operations in a computer.
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a) basics; b) circuits; c) equipment

6. A computer can solve very complex numerical ...

a) communication; b) computations; c) instructions

7. Numbers and instructions forming the program are ... in the memory.

a) solved; b) stored; c) simulated

8. The control unit serves for ... orders.

a) reading; b) interpreting; c) inputting

9. The function of memory is to store ... the original input data  the partial results.

a) not only ... but also; b) either ... or; c) no sooner ... than
10.  The ... includes the control and arithmetic-logical units.
a) flip-flop; b) digital computer; ¢) central processor

2. 3anoanume nponycku, 6vl0pas NPAGUILHYIO ZPDAMMAMUYECKYIO Popmy.

1. The simplest digital device is any device which [a) can; b) could; ¢) must] count.

2. In ancient days man [a) learns; b) learned; c) has learned] to substitute beads for fingers to
help him count.

3. The ancient Chinese simplified the [a) counted; b) to count; c) counting] board into abacus.

4. The Japanese improved the abacus making it [a)more efficient; b)much efficient;

c) efficienter].

5. The tremendous speeds of computers and the flexibility [a) building; b) built; ¢) to build] into
them [a) because of; b) according to; c) due to] the logical control make modern computers more
powerful than mechanical calculators.

6. The big problem in understanding digital computers is the logic which relates the logical
elements into a unit [a) performed; b) performing; ¢) having performed] arithmetic and logical
operations.

7. Arithmetic operations [a) converted; b) are converted;

c) was converted] into a sequence of simple logical operations.

8. Any digital calculation is usually [a) breaking; b) broken; c) being broken] down into a
sequence of elementary operations.

9. A computer is a device [a) to accept; b) has accepted; c) accepts] a set of instructions and [a)
executes; b) executed; ¢) to execute] them in the appropriate sequence.

10. The flip-flop [a) is; b) was; c) has been] a storage cell with two inputs and two outputs.

Tema 3.5 MupoBble J0CTH/KEHUS] HAYKH M TEXHUKH U TEHACHIIUM B 00JIACTH 3JIEKTPOHUKHU
JIekcuko-r pPaMMAaTHYCCKUC YIIPAKHCHUA
Ilpoumume, nepesedume u 3anomuume cieodyruiue 6blpaxceHus:

An information-dependent society; a computer-literate citizen; an everyday problem-
solving device; to be aware; to influence the quality of life; to have an opportunity; to learn the
basics; to learn computing; the most significant technical achievements; to embrace computer
literacy; to prepare programs; to direct the operations of a computer; to be on the way of
becoming computer-literate; to process information; to have much in common; a data processing
system.
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KontpoabHnas padora Ne 5

Tema 3.6 IlepcnekTUBBI Pa3BUTHS 3J1eKTPOHUKH

JIexcuko-rpaMMaTHYeCKHE YIIPA)KHEHUS
Read and write down the main directions of technological modernization of the radio-
electronic industry:
1. Creation of a research and production complex with a sufficient set of technologies for the
production of modern radio-electronic products.
2. Optimization of organizational, scientific, technical and industrial cooperation between
enterprises for wider use of a single technological base.
3. Expanded use of innovative radio-electronic technologies through their creation,
implementation, borrowing and evolutionary development.
4. Elimination of ineffective, unused and unreasonably duplicated production and technological
resources.
5. Active development and production of innovative high-tech products with the priority of the
civil sector.
6. Increase overall labor productivity and speed up design and production cycle of development.
7. Preservation and development of human resources.

KonTtposbHas padora Ne 6
1. Iloobepume emecmo nponyckoe nooxooauiee nO CMbLCY C/1060.
1. The most common for planning the program logic are flowcharting and
pseudocode.
a) technologies; b) technics; c) techniques
2. was designed for dealing with the complicated mathematical calculations of
scientists and engineers, a) COBOL; b) FORTRAN; c) PL/I
3. is the foundation of any programming languages.
a) a set of rules; b) a group of numbers; c) a lot of instructions
4.1/0 match the physical and electrical characteristics of input-output devices.
a) interchanges; b) interfaces; c) interpretations
5. Letter-quality, dot-matrix and ink-jet printers are all printers.
a) line; b) page; c) character
6. The most common device used to transfer information from the user to the computer is the

a) keyboard; b) printer; ¢) modem

7. Input-output units link the computer to its external

a) requirement; b) development; c¢) environment

8. 1 / O devices can be classified according to their speed, visual displays being
devices.

a) high-speed; b)medium-speed; c) low-speed

2. Cocnacyiime cnoea 6 1€60il KOJIOHKe ¢ UX UHmMeEpnpemayueil, nPeoylodceHHOol Cnpasa.

1. Computer a) an electronic device accepting data processing results from the computer
system;

2. Input b) the unit performing arithmetic opera-
tions called for in the instructions;
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Output c) the unit coordinating all the activities of
various components of the computer. It reads information, enterpretes
instructions, performs operations, etc.;

4. Software d) a set of programs designed to control the
operation of a computer;

5. Hardware e) lists of instructions followed by the con-
trol unit of the CPU:

6. Storage f) an electronic device keying information
into the computer;

7. CPU g) the unit holding all data to be processed, intermediate and final results of
processing;

8.CU h) visible units, physical components of a data processing system;

9. ALU i) the unit that directs the sequence of system operations, selects
instructions and interpretes them;

10. Program j) a device with a complex network of electronic circuits that can process

information, make decisions, and replace people in routine tasks.

3. Onpedenume Heauunvle oOpmol 21aA201a, COOEPHCAUUECA 8 CEOYIOUUX NPEOTOHCCHUSAX.

Ilepesedume ux.

1. The problems to be studied are of great importance. 2. The problem studied helped us
understand many things. 3. To study the problem we must make some experiments. 4. To study
the problem means to give answers to many questions. 5. Having studied the problem we could
answer many questions. 6. The problem studied is unlikely to be of great interest. 7. Scientists
studying the problem made a lot of experiments to get answers to the required questions. 8. The
problem to have been studied last year will not help us to solve our task now. 9. Having been
well prepared for the examination the pupils could answer all the questions the teacher asked
them. 10. The problem to be discussed at the meeting requires careful consideration.

Tema 3.7 Ilpodeccun, cBAI3aHHbIE € IKCIJIyaTallHell 3JIEKTPOHHOT0 000Py/10BaHUS

HGKCI/IKO'FpaMMaTI/I‘leCKI/Ie YIIPpAKHCHUA

Ilepesedume cnosa u cnoeocouemanus Ha AHAUNLCKUIL A3bIK:
DNEeKTpUK, DNEKTPOMOHTEpP, DIEKTPOCIecaphb, DIEKTPOTEXHUK

Ymo oonoicen 3uamo cneyuanucm?
@U3UKY.
Mamemamuky (apucbmemuky, 2eoMmemputo,
mpu2oHomMempuro).
lNpasusia mexHuku 6esonacHocmu.
TexHu4eckue napamempsl, ycmpoucmaso,
MpUHYUnsl deticmsusi 06¢/1yXusaemMblX
damyukos, npubopos, cucmem.
Buodbi u npu4uHbl ux nospexoeHud.
Memodbl 06HapyxeHusi HeucripasHocmeu u
npasusia peMoHma.
lMpasuna mexHu4yeckol aKcniyamayuu
0bopydosaHusi
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3amaHus K 3a4eTy N0 AUCHUIINHE
1. Boinonnume nepeeoo zpammamuKkaiu306aHHbIX RPEOIOHCEHUI.

l. I. Accuracy is one of the major items in judging a control system. The higher the
accuracy of the system, the less errors the system makes. 2. The digital computer employs the
principle of counting units, digits, and hence, if properly guided, gives answers which have a
high degree of accuracy. 3. Electronic computers can choose which of several different
operations are the right ones to make in given circumstances. Never before has mankind had
such a powerful tool available. 4. In many cases man has proved to be but an imperfect controller
of the machines he has created. Thus, it is natural, that wherever necessary, we should try to
replace the human controller by some form of automatic controller. 5. It is necessary to draw a
distinction between calculating machines and computers, the former requiring manual control for
each arithmetic step and the latter having the power to solve a complete problem automatically.

. 1. Many servomechanisms and regulators are known to be composed of a number of
control elements connected in series, the output of one being used as the input to the next. 2. to
be expect a computer to work for at least several hours without a fault; that is to say, supposing a
speed of one thousand operations per second, to perform more than ten million operations. 3.
Digital programming implies the preparation of a problem for a digital computer by putting it in
a form which the computer can understand and then entering this program into the computer
storage unit. A problem to be solved by a digital computer must be expressed in mathematical
terms that the computer can work with. 4. Among all forms of magnetic storage, magnetic tapes
were the first to be proposed in connection with digital computers. 5. Programming a computer
involves analyzing the problem to be solved and a plan to solve it.

2. Ilpoumume mekcmol (no eapuanmam) u cocmagvme KOPOMKyI0 AHHOMAUUIO HA KAXHCObLIL
U3 HUX.

1. The WORLD-WIDE WEB

People have dreamt of a universal information database since late nineteen forties. In this
database, not only would the data be accessible to people around the world, but it would also
easily link to other pieces of information, so that only the most important data would be quickly
found by a user. Only recently the new technologies have made such systems possible. The most
popular system currently in use is the World-Wide Web (WWW) which began in March 1989.
The Web is an Internet-based computer network that allows users on one computer to access
information stored on another through the world-wide network.

As the popularity of the Internet increases, people become more aware of its colossal potential.
The World-Wide Web is a product of the continuous search for innovative ways of sharing
information resources. The WWW project is based on the principle of universal readership; "if
information is available, then any person should be able to access it from anywhere in the
world." The Web's implementation follows a standard client-server model. In this model, a user
relies on a program (the client) to connect to a remote machine (the server), where the data is
stored. The architecture of the WWW is the one of clients, such as Netscape, Mosaic, or Lynx,
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"which know how to present data but not what its origin is, and servers, which know how to
extract data", but are ignorant of how it will be presented to the user.

One of the main features of the WWW documents is their hypertext structure. On a graphic
terminal, for instance, a particular reference can be represented by underlined text, or an icon.
"The user clicks on it with the mouse, and the referenced document appears.” This method
makes copying of information unnecessary: data needs only to be stored once, and all referenced
to it can be linked to the original document.

2. SUCCESS of the WWW

Set off in 1989, the WWW quickly gained great popularity among Internet users. What is the
reason for the immense success of the Wbrld-Wide Wfeb? Perhaps, it can be explained by
CERN's* attitude towards the development of the project. As soon as the basic outline of the
WWW was complete, CERN made the source code for its software publicly available. CERN
has been encouraging collaboration by academic and commercial parties since the onset of the
project, and by doing so it got millions of people involved in the growth of the Wfeb.

The system requirements for running a WWW server are minimal, so even administrators with
limited funds had a chance to become information providers. Because of the intuitive nature of
hypertext, many inexperienced computer users were able to connect to the network. Furthermore,
the simplicity of the Hyper Text Markup Language, used for creating interactive documents,
allowed these users to contribute to the expanding database of documents on the Web. Also, the
nature of the World-Wide Web provided a way to interconnect computers running different
operating systems, and display information created in a variety of existing media formats.

In short, the possibilities for hypertext in the world-wide environment are endless. With the
computer industry growing at today's pace, no one knows what awaits us in the 21st century.

3. ABRIEF HISTORY of the INTERNET

In 1973 the Defense Advanced Research Projects Agency (DARPA) initiated a research program
to investigate techniques and technologies for interlinking packet networks of various kinds. The
objective was to develop communication protocols which would allow networked computers to
communicate transparently across multiple, linked packet networks. This was called the
Internetting project and the system of networks which emerged from the research was known as
the "Internet” (Intercontinental Network).

During the course of its evolution, particularly after 1989, the Internet system began to intergrate
support for other protocol suites into its basic networking fabric. By the end of 1991 the Internet
has grown to include some 5000 networks in over three dozen countries, serving over 700,000
host computers used by over 4,000,000 people.

The bulk of the system today is made up of private networking facilities In education and
research institutions, business and in government organizations across the globe.

25



A secretariat has been created to manage the day-to-day function of the Internet Activities Board
(IAB) and Internet Engineering Task Force (IETF). IETF meets three times a year in plenary and
in approximately 50 working groups convene at intermediate times by electronic mail,
teleconferencing and at face-to-face meetings.

There are a number of Network Information Centres (NICs) located throughout the Internet to
serve its users with documentation, guidance, advice and assistance. As the Internet continues to
grow internationally, the need for high quality NIC functions increases. Although the initial
community of users of the Internet were drawn from the ranks of computer science and
engineering its users now comprise a wide range of disciplines in the sciences, arts, letters,
business, military and government administration.
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« » 20 r. (mpoTokos Ne

[Ipenacenarens MIIK /

Mopanucan: WesaHgpoHoBa Jliogmuna MapcoBHa
DN: MHH=251002051306,
CHWNC=04295010330, E=siek25@yandex.ru,
C=RU, S=[lNpumopckuii kpaw,
L=Cnacck-[anbHuin, O="KPAEBOE
FOCYOAPCTBEHHOE BIOKETHOE
NMPO®ECCUOHAIIbHOE
OBPA3OBATEJIbHOE YYPEXXOEHWE ™
CMACCKUM
MHOYCTPUANBHO-3KOHOMUYECKNIA
KONNEDXK™", G=ITtogmnna MapcoBHa,
SN=LleBaHapoHoBa, CN=LlleBaHapoHOBa
Jllogmunna MapcoBHa
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